ZEPHIT Oty X —[ES 202547H318
SMTEE
EXE 48 5H 6 A 7R 8 A 94
= EUR = () | EUNE (kg) |ERRE(R) | EIURE (kg) |EUN=R8(R) | EUNE (kg) |EUNRE(R) | EIUE (kg) |EUNRE(R) | EUNE (kg) |EUR A2 (R) | EUE (kg)
H&E 36 7.46 2 0.28 24 5.08 22 5.24
AV ARRY
63 7.6 59 3.7 99 15.18 39 4.58
FES
ErZ ) 20 4.92 12 3.52 56 12.44 2.36
BELT o 15 2.24 4 0.08 8 1.56 0.86
B 19 15.02 0.9 4 1.22 19 5
BElE N 18 7.04 11 4.62 42 11.94 23 4.82
BEF 381 53.56 340 58.6 378 53.22 387 59.54
Z D 10 6.18 2 2.2 34 22.7 3 0.5
B 562 104.02 431 73.9 645 123.34 501 82.9 0 0 0 0
A A 27 12 29 16
EIXE 10A 11A 12A 1A 2B 3 A =
28 |EmEs(R)] ERE ke) |EEs (=) | EURE (ke) [Eas ()| EUE (k) [EMEH(R) | EURE (ke) [EULEHGR) | EURE (ke) |EUREH(R) | EURE (k) |EIRS2() | EIRE (ke)
it 84 18.06
TRz 260 31.06
B
=27 93 23.24
WELT 30 4.74
R 43 22.14
BELE S 94 28.42
BEF 1,486 224.92
Z D 49 31.58
= 0 0 0 0 0 0 0 0 0 0 0 0 2,139 384.16
A A 0 0 0 0 84




A b—=3—H F=7 U ABFEEEIRNS 2025577318
DRTEE
ERE 4R 5 A 6 A 7R 8 R 9R
BE  |ERAHGN) | EREke) |EURAR(R) | EIRE (k) [ERAK () | EURE(kg) |EURAK(R) | EIRE (ke) |[ERAK () | ERE (kg) |EURAR(R) | EIRE (ke)
S 22 5.96 6 0.88 6 1.28 0 0
X%
20 2.74 11 2.02 5 0.98 3 0.54
b
i) 0 1.24 61 17.62 5 16.46
ELT fR 0 0.46 0 0 0 0
BRE 22 6.88 6 1.6 7 2.88 3 1
TR 4 0.58 13 2.8 29 2.82 0 0
BET 26 2.82 0 4 0.3 7 1.38
Z Dt 0 0 0 0 0 0 0
A&t 94 18.98 42 15 112 25.88 18 19.38 0 0 0 0
ERE 10AR 11R 12R 1A 2R 3R a5t
BE | EREKE) | EURE (ke) |ERA () | EURE (ke) |EURAHK () | EURE (ke) |EURS () | EURE (ke) |EMLAHK () | EURE (kg) |EUR 23 (R) | BURE (k) [EULEK () | EURE (ke)
TEa 34 8.12
oA 39 6.28
b
EAY) 69 41.32
R AT 3 0.46
B 38 12.36
TR 46 6.20
BPET 37 4.50
Z 0t 0 0.00
A&t 0 0 0 0 0 0 0 0 0 0 0 0 266 79.24




4 h =3 = F—NEEERS

20254 7H31H

SMTEE

EIRE 4 A 5 6 A 78 8 A 98

2E | EREMGR) | EINE (k) |ERAE ()| EUE (ke) |ERAB(R) | BIRE (ke) |EMRAEGR) | BNE (ke) |EMA#() | EINE (k) |ERAE ()| EIRE (k)

= 1 0.1 0 0 3 0.5 0 0
oAz 16 1.7 8 5 12 1.2 8 1

FEm

&1 17 28 0 0 0 0 11 18

] 0 0 0 0 0 0 8 0.1

] 20 6 18 75 8 25 1 0.3

B 4 0.1 0 0 4 0.6 0 0

BET 4 0.3 0 0 1 0.2 12 33

Z ot 0 0 0 0 0 0 0

e 62 11 26 125 28 5 40 6.5 0 0 0 0

EIRE 104 1158 1258 17 2 A 34 e

SE  |ERAmGR | ERE (e |ERAK(R)| BRE (ke) |ERAK(R) | BEIRE (ke) |ERARGR) | ERE (k) |EHAE(R) | EIE (k) |EIRAHK(R)| BHLE (ke) |ERAK(R) | EIRE (ke)

= 4 0.60
R a4 8.90

L2

By 28 4.60

7S 8 0.10

o 47 16.30

AE sf 070

PET 17 3.80

Z ot 0 0.00

P 0 0 0 0 0 0 0 0 0 0 0 0 156 35




TANIKERREN Y

4 B

5H

6 H

7H

8 B

98

BN S () | EURE (kg)

BN S (R) | EURE (ke)

BN S (R) | EURE (ke)

EUR =2 (=) | EURE (kg)

BN =2 (=) | EURE (k)

BN =2 () | EURE (k)

AR

BET

Z Dt

At

20255 7H31H

[ENE

10R

118

128

1A

2R

3R

2

—+

an B

EURSE () | EUE (kg)

EUN = (=)

EUNE (kg)

EUN = (=)

EUNE (kg)

B 254 (52)

EUNE (kg)

B 224 (52)

EUNE (kg)
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